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Zipper model
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general case (N) Sequences with m His
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Zippermodel N-m + =(m)
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Exact solution :
II

method called transfer matrices
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need to add this bottom row
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Ising model : N-X Tr[ABC]
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Ky is concentration when half bound

lower Ka is higher affinity

for a doug uM or pl affinity

other Considerations
· specificity (

kd to everything else

· availabity/membrane permeability
· Kopf molecule

,
low koff



Cooperativity
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k = [L]
M + L => ML I [MJ[L]

Mc + LEMLz

MLz + LM1z

MLz + L MCH ky = InSe
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how dome measure/quantify cooperativity
M + n2 MLn all or nothing

fo=]
k = [MLn]
-

[M] + [MLn] IM 3 [L]*

I= 1i[m3 + [MJCLJk

fu = 1 - fb



In (e) us log [

-
-

Et
~ R

fit to line- hillincoeff

anti
MH = 1 , no coop

14
cooperativity


